

Homework 3

2.1

#3 $N(T) = \{(a_1, a_2) \mid a_1 + a_2 = 0, 2a_1 - a_2 = 0\} = \{(0, 0)\}$

$\therefore \dim R(T) = 2$

$$\begin{aligned} w \in R(T) \quad w = T(a_1, a_2) &= (a_1 + a_2, 2a_1 - a_2) \\ &= (a_1, 2a_1) + (a_2, -a_2) \\ &= a_1(1, 2) + a_2(1, -1) \end{aligned}$$

Basis for $R(T)$: $(1, 2), (1, -1)$

#5 $f(x) = a_2 x^2 + a_1 x + a_0$

$f'(x) = 2a_2 x + a_1$

$f'(x) + x f(x) = a_2 x^3 + a_1 x^2 + (2a_2 + a_0)x + a_1$

\therefore in $N(T)$ if $a_2 = 0, a_1 = 0, a_0 = 0$

$\therefore N(T) = \{0\}$.

Given $b_3 x^3 + b_2 x^2 + b_1 x + b_0 = T(f(x))$

$a_2 = b_3, a_1 = b_2, (2a_2 + a_0) = b_1, a_1 = b_0, a_0$ arbitrary

$T(f(x)) = a_2 x^3 + a_1 x^2 + (2a_2 + a_0)x + a_1$

$= a_2(x^3 + 2x) + a_1(x^2 + 1) + a_0 x$

Basis for $R(T)$: $x^3 + 2x, x^2 + 1, x$

#6 T is onto $a \in F$

$T \begin{pmatrix} a & 0 & 0 \\ 0 & \dots & 0 \\ 0 & & 0 \end{pmatrix} = a$ Basis for $R(T)$ is $1 \in F$

$\dim N(T) = n^2 - 1 \quad \text{Tr}(A) = 0 \quad a_{11} + \dots + a_{nn} = 0$

$A = a_{11}E_{11} + \dots + a_{n-1,n-1}E_{n-1,n-1} + (-a_{11} - \dots - a_{n-1,n-1})E_{nn} +$

$\sum_{i \neq j} a_{ij} E_{ij}$

Basis of $N(T)$: Consider

